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SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ
Faf~n, 3,370,000 3,370,000 0
. gdEdA = XY FU(SELXNGNL/STHH) 3,370,000 3,370,000 0
)%”—’F—EIIQ XN () (AL LFHIAXNR ESI A 3,370,000 3,370,000 0
AMAHFHI A FHHIAY 2,957,000 2,957,000 0
401 AIEHIZ 208 1,957,000 2,957,000 21,000,000
01 A&l 1,946,400 2,946,400 21,000,000
OZ AtHI (AHIZ=HI) d3d 1,946,400,000& 1,946,400 2,946,400 21,000,000
403 A XIEHHSXH=01H 1,000,000 0 1,000,000
02 ICHEHCH AL B 1,000,000 0 1,000,000
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2) 1,000,000,000& 1,000,000 0 1,000,000




